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Go gle why is the sky blue S n

Web Videos Images Shopping Books More ~ Search tools

About 309,000,000 results (0.42 seconds)

A clear cloudless day-time sky is blue because molecules in the air
scatter blue light from the sun more than they scatter red light. When we
look towards the sun at sunset, we see red and orange colours because
the blue light has been scattered out and away from the line of sight.

Why is the sky Blue?

math.ucr.edu/.../BlueSky/blue_sky.html University of California, Riverside

Feedback
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GO gle why is summer hotter than winter

Web News Videos Images Shopping More ~ Search tools

About 1,240,000 results (0.48 seconds)

During the summer, the sun's rays hit the Earth at a steep angle. The
light does not spread out as much, thus increasing the amount of energy
hitting any given spot. Also, the long daylight hours allow the Earth
plenty of time to reach warm temperatures.

Why is it hot in summer and cold in winter? (Everyday ...
www.loc.gov/rr/scitech/mysteries/seasons.html  Library of Congress

Feedback
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* Q&A
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* P(Q|A): Alignment
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& vl all web pages (—10B, 40% Englisii)
* Parse all sentences

* Find top 50 documents per question

* Align sentences to questions

* Find top candidate sentences

* Recompose sentences and paragraphs



Deep Learning: Google Brain

Input to another layer above 1
(image with 8 channels)

Number of output
channels = 8

Number
of maps =8

Number of input
channels =3

Image Size = 200
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